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511006 FOO |[=TEEYE 30
511006 FOO [=FHE () 60
511009 FOO [=FHE () 60
511017 FOO |[=TEEYE 40
511017 FOO |=TFEX 58
511028 FOO |=TFEX 60
511028 FOO |=F®EX 60
511028 FOO [=FHE (F) 60
511029 FOO [=FHE (F) 60
511043 S TOO  |=FFERMIE 60
511050 OO [=F&E () 7
511050 FOO |=F®EX 60
511057 200 |=FEX 60
511064 200 |=F®EX 60
511064 200 |=TFEB(LE 60
511068 5200 |=ZFEE(LE 27
511070 200 |=TFEX 36
511074 200 |=Z FNPEEERHM 40
511074 200 |=TFEEYE 45
511094 FOO [=FHE () 60
511103 Z00 [=FHE () 60
511120 Z00 |=Z FNPEEERHM 32
511120 Z00 |=TFFERIE 60
511120 Z=00 |=TFEBESE 60
511124 Z=00 |=TFEEYE 50
511129 Z00 |=TFEEYE 30
511129 Z00 [=FHE () 60
511133 HOO  |= FEEB(LE 30
511133 OO | = NhEEERHM 46
511133 OO |[=FENIEX 60
511133 OO |[=FEE () 60
511134 OO  |=FEIX 32
511162 MOO |=FEIX 60
511162 MOO |=FEX 60
511173 MOO |=TFEIX 53
511174 MOO |= FNhEEERHM 35
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511174 #HOO |=ZFEEBAREME 55
511174 OO |="TFFERE 60
511174 OO |=FNEBESE 60
511192 MOO | = NS BB R 22
511192 OO |=TFNEEYE 30
511192 MOO |= FNhEEERHM 39
511198 MOO |=Z FEEBAREME 38
511198 MOO |=TFFERIE 58
511204 OO [=FEHE () 13
511204 OO |=TFEIX 55
511204 OO |[=FENIEX 60
511206 OO | = NRFEE S B B R 18
511206 OO |=TFEIX 43
511206 OO |=FEEB(LE 60
511210 OO |=TF®EX 60
511210 OO |=TFNEEYE 60
511210 OO |[=TF&E () 60
511230 #“O0O |=FENIEX 60
511234 =00 |=Z FNPEEERHM 19
511234 =00 |=TFFERIE 50
511243 200 |=FHE (B) 60
511259 sROO |=Z FEBNEREHER 35
511259 ROO |= FEEB(LE 60
511259 kOO |[=FEE () 60
511282 ROO |=FNEEYE 20
511301 FOO [=FHE () 60
511309 FOO [=FHE () 60
511315 OO0 |=FERBEY 60
511315 OO0 [=FHE () 60
511317 OO0 |="FFERMIE 60
511317 OO0 |=FNEBESE 60
511358 OO |= FPEXCERHAM 24
511358 OO |=NEBZ({LE 60
511358 OO |=FHE (F) 60
511362 BEOO |=FHE (F) 40
511362 BEOO |=FEEEE 60
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511370 BEOO |=FEEEE 33
511370 OO |=FHE (F) 60
511385 BOO |[ZFEELAREME 53
511385 BOO |=TFFERIE 60
511386 200 |= FNhEEERHM 29
511399 BOO | = NRFEE# B B R 36
511399 BOO |=FNEEYE 40
511399 HBOO |=FEX 60
511399 BOO  |=FNEB(LE 60
511399 BOO |[=FEE () 60
511408 =00 |= NS B 32
511408 =200 |[=ZFNEEYE 60
511410 =00 |Z FBXEREHER 46
511410 =00 |=TFEX 60
511417 =00 |=Z NPEEERHM 28
511417 =00 |ZFENXIEX 60
511417 =200 [=F8E (2) 60
511419 =200 |[=ZFNERBEY 60
511419 =200 [=FHE (B) 60
511434 BOO |=TFEIX 56
511434 BOO |=FEX 60
511437 OO0 |=FNEEYE 40
511437 OO |=FEE (B) 40
511451 00O |=Z FEBNFERELER 26
511451 OO |=FEX 60
511478 BOO |=TFExX 15
511478 BOO |=TFNEEYE 15
511486 BOO |=F®EX 60
511500 OO |=FNERBEY 50
511500 OO [=FHE () 60
511502 00O |=FEEBE(LE 60
511502 OO [=FHE () 60
511514 OO [=FHE () 0
511514 OO |=TFEEYE 15
511541 200 |=TNEEYE 45
511541 200 |=F®EX 60
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511543 OO |= NRFEEHT B R 24
511543 OO |=FNERBEY 32
511543 OO |=TFNEB(LE 33
511543 OO |= FNhEEERHM 34
511543 BOO |=TFEX 50
511543 BOO |=F®EX 60
511550 BOO |=TFEX 45
511550 BOO |=F®EX 45
511556 #FOO |=F®EX 60
511556 #2OO |=ZFEE(LE 60
511556 #z00 |=TNEEYE 60
511564 OO |=TFNEEYE 20
511574 HOO |=ZFEE () 10
511574 #HOO |=TFEIX 57
511574 #HOO |=F®EX 60
511590 BOO |= FNhEEERHM 38
511590 OO |=F®EX 60
511595 OO |=TFERIE 60
511597 OO |=F®EX 60
511597 OO |=ZFEE (B) 60
511602 ZOO |=TFNEB(LE 60
511602 ZOO |[=FHE (B) 60
511603 OO |=TEEYE 35
511603 ZZ2OO |= NhEEEARHM 35
511618 Z=00 |=TFEEYE 40
512001 TOO |=TFEEY®E 60
512007 FOO [=FHE () 60
512011 FOO |=FhEEERHM 32
512011 FOO |=TFEX 55
512011 FOO |=TFFERIE 60
512021 HOO |=F&E2(2) 10
512021 HOO |=FNhEMEEXREM 34
512021 HOO |=FEIX 47
512021 HOO |=TFNERH#IE 53
512021 HOO |=ZMEEBARBEHE 55
512022 BHOO |=TFNEEB(LE 60
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512027 TOO [=F8E (2) 60
512036 200 |=TFEEBESE 60
512043 200 [=FHE (B) 60
512047 Z00 |=F®EX 60
512047 Z00 [=FHE () 60
512049 Z00 [=FHE () 60
512053 Z=00 |=TFEEYE 45
512075 OO |[=FEE () 60
512076 HOO |=TFNEEBEYE 25
512076 MOO |[=FEE () 60
512084 MOO [=FEE () 60
512097 HOO |=TFFERIE 60
512101 £00 |=F®EX 60
512101 200 |=ZFEE(LE 60
512101 200 |[=FHE () 60
512113 ROO |=FNEEBYE 60
512117 ROO |= FEEB(LE 60
512117 wOO |=FEE () 60
512142 FOO [=FHE () 60
512145 FOO |=F®EX 60
512145 FOO [=FHE () 60
512191 ZOO |=FEE(B) 60
512202 =200 [=F8HE () 60
512235 BOO |=F®EX 60
512235 BOO [=F8E (2) 60
512258 BOO |[=TFEEBEYE 60
512272 OO |=ZFEEB(LE 60
512272 OO |=ZFEE (B) 60
512283 ZOO |[=FHE () 60




